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sin(a+f), cos(a+ B) tan(a+ B) % & 1T .

glath) =cos(a+fB)+jsin(a+pB). .- (D
gl (@th) — gi@.e38 — (cos o + j sin @) (cos B + j sin B)
= (cosacos B — sinasin 8) + j(sin a cos B + cos asin j3)
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{Sin (a+ B) =sinacos B+ cosasin 8

cos (a+ ) = cosacos f — sin asin B

tan (o + g) = Sn(@FB) _ tanattanf

cos(a+pB) 1—tanatanp
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sin’(al2), cos’(al2) % K k.

e92% = cos 2o+ jsin2a - - -D

€92% = (cos o + j sin a)?
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sin 2a = 2sin a cos
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sinacosf, cosasing, cosacoss, sinasing
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sinacos B = %{Sin(a—l—/j) +sin (o — 8)}
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cosasin f = %{sin (a+ B) —sin(a—B)}

{sin(a—}—ﬁ) =sinacosfB +cosasinf -+

{cos(a+ﬂ) =cosacosf —sinasing <+

cos (o — B) = cosacos B +sinasing @
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cosacosﬁz%{cos(oﬂ-ﬂ)—i-cos(a—ﬂ)}
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sinozsinﬁ:—%{cos(a—i—ﬁ)—cos(a—ﬁ)}
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